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Werkblad: Delen door 8. Wat is het goede antwoord?

Deeltafels

l'64:827 2.48:82? 3.16:82? 4.8:82?
3ls2)(1) (e)2)(3)() (4132 (1(e)(2)0s)
5'40:82? 6.40:82? 7.80:82? 8.8:82?
2003005001 (s(s)(2)(1) (2001003000 (3)(2)(1)(4)
9'56:8=? 10.32:82? ll.48:8=? 12'24:82?
ENENEIEV T ENEVEV IR ENENEDTINNENENIEHED
13-72:8=? 14.48:82? 15.72:82? 16.80:82?
EYCHENEVINENENITIENINENICHEDEINNENEIEIED
17.32:8=? 18.80:82? 19.16:82? 20.80:82?
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Werkblad: Delen door 8. Wat is het goede antwoord? |
ANTWOORDEN

Deeltafels

1.

64 :8="7

DICIEVEY

5.

40:8=7

DIOIOIEY

9.

56:8=7

ICNGIEY

13.

12:8=7

DIOIENEY

17.

32:8=7

OIOIEvE)
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48 :8="7

OIEVENEY

6.

40:8="7

SICHENEY

10.

32:8=7

KIENENEY

14.

48 :8="7

DIEYOIEY

18.

80:8=7
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3.

16:8="7

KOIENENEY

1.

80:8=7

2130

11.

48 :8=7

DIEVEN

15.

72:8=7

EIOIENE)

19.

16:8="7

D))

8:8=7

DIOIENE

8.

8:8=7

(22

12.

24 :8=7

IEYTIE)

16.

80:8=7

DIEEDIEY

20.

80:8=7

OEDIENEY



